2
99% + — =
5
2
90/0 = — =
3
100% + 1 =
68% + 7 =
10% + 3 =
2
65°/o - —
3
17% + 2.1
76% =+ 1.4
57% = 1.7
73% + 2.1
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24% + 1.5 =
53% + 2.1 =
3
85% + — =
9
70% + 8 =
34% + 10 =
1
77% + — =
2
40% + 4 =
65% + 1.4 =
33% + 8 =

1
82°/o - — =
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28°/o - 7 = °/o 46°/o = 12 = °/o 88°/o = 5 =
43°/o+ 9= °/o 49°/o+ 7= °/o 45°/o+ 9 =
0, 7 [o)
48% + e 0 95% + 2 = % 36% + 5 =
o, 2 [o)
13/o+?= % 7% = 7 = % 44% = 1 =
[o) 4 [o)
98% + 1.4 = % 2”°+g= o 75% + 3 =
-
24% + 1.7 = % 99% =+ 3 = % 47/°+§—
40cy° - 11 = o/o 57°/o - 3 = o/o 24°/o = 16 =
[0} 9 o,
10% = 2.1 = % 1% + —= %o 68% = 1 =
10
0O, 4 [o)
59% = == & 19% + 1.4 = % 97% + 1.4 =
83% > % 239 4
) 6 - 310/0—5= o/O ' 6 -
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3
20% + 1.7 = % 26% + 1.8 = % 46%+3= %
o) 4 O,
56% + 2 = % 35% = = %o 53% + 1.4 = %
89% 4 % 75% 1 %
’ 8 - ' 3 - 75% + 9 = %
299 > % 149 P %
e 3 43% = 1.2 = %
19% 3 % 299, 4 %
94cy0 - 15 = o/o B 6 - o - 5 =
970/ 3 °/ 950/ 3 o/
' 5 - 3% - 3 = °/o ' 9 -
o, 6 [o)
9% = == A 68% + 1.9 = % 4% = 1 = %
[0} 1 [0}
94% = 1 = % 77% = 1.3 = % 2/°+g= o
o, 8 O,
93% + 1 = % 92% + e o 57% + 5 = %

6
48% + 6 = % 90%+§= % 53% + — = %



